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‘bad  deg (r(x)) < deg (x - a)

d e g  ( r ( x ) )  < 1.

r ( x )  =  c  tilH%J¶Al4  c  E F. .

f(x) = (x - a) q(x) + c.

hJYl~¶+~  6.2.2

;I  (i/a  :  Fix) + E  ?,z\,u

vdf(x)) = w&x  - a)  q(x)  + cl

f(a) = (a - a) q(a) + c

c

atd f(a) = 0’

c = 0

. f(x) = (x - a)  q(x)

LLWWh f ( x )  RlUl~~Ll!Jt4~&C!I4  (x - a)q(x)

&Z%  (X - a) a3uG2d7:nouva4 f(r)

e ew.Gi (X  ~ a )  duG2iaPls:nouesCsva4  C(U)

.  f (x )  = (x - a )  h ( x )  ~IV&WM  h(x)  E Fix].

wa(f(x)) = vJ(x  - aMu))

= (a ~ a)h(a)

= 0

a& vdf(x)) = f(a)

f(a) = 0

LL~@N?h  a LClMJPaSlJ34  f(x) #



9 9



x4 - 2x3 + 3x2

-x3 - x2 + 4x

- x 3 + 2 x 2 - 3 x-

-3x* + 2x - 1

-3x2 + x - 4

x + 3

Qis&6  x4 - 3x' + 2x2 t 4x - 1 = [(x2 - 2x + 3)(x* - x - 3)j + (x + 3)

,t
G?.¶nau  q(x)  = x2 - x - 3 UAr r(x) = (x + 3)

x3 + 4x2  + 4x + 1
x-l x4 + 3x3  t 2x + 4

x4 - x3

4x3

4x3 - 4x2

4x2  + 2x



101

4.x' - 4x

x+4

r - l

0

Y+ I
Y2-lp? +4
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1 0 3

nqldij 7.2.1
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nq?ii  7.2.2
I I
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#

VlqMij  7.2.3



1 0 6

e= tW%J?i  p(x) I~PrWy~lPl~nawo~~J~~~~~~  F

bbAtSTSJBJ?i  N &U$J~@un6  3 <p(x)> L N c F[x]

hJVl~¶@j  7.2.2 N dhUl$J~W?lih%l

’ N = <g(x)> dT-6  9Jl.3  g(x) E N. ,

Lb&?:  p(x) E N

’ p(x) = g(x) q(x) il99%  I~19  q(x) E F[x]. .

M-i  p(x) LOUW~%w.AwlWs~~J~~

. deg (g(x))  = 0 R%lfQ.t~Un”  deg (q(x)) = 0.

$1  deg (g(x)) = 0 &a g(x) L%W4yUlU~l~~~a~u  F

g(x) dl.4 unit II.4  F[x]. .

<g(x)> = N = F[x].

61 deg (q(x)) = 0 &a

q(x) = c hd c E F

MA’. g(x)  = ( $ )(P(X))  E <P(X)>

. N = <p(x)>. .

. <p(x)>  C N c F[x]  L.hbh%. .
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1 0 8

51  f (x)  L~pbwyuloJ6J~)‘yIQu~~  a&J

f(x) = g(x) h(x) ‘b@lLld  deg (g(x)) LLWt  deg (h(x)) tktU?l~l  deg (f(x))

$ii  g(x) LbA:  h(x) L!%.wty~~a~ac~l’noU!~?;





fioPa~navoa~~~Lflm~1
pl(a  +  b,)(c +  d,)] = p[(ac - bd)  + ( a d  + bc)i]

= (ac - bd)’ + (ad + bc)’

= a%?  +  b’d’ - 2 a c b d  +  azdZ  +  bLc2  + Zabcd

= a’? t b2dZ  t  a2d2  t b2c2

= (a’  + b*)(c’  + d’)

= Aa + bJ  P(C + 4)
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&91n (c - di)(t +  ui)  =  (r +  s i )

~~v-rmh P(C - di)p(t  + II,) =  P[(C  - di)(t +  ~91

= p(r + Si)

< P[(C  + dJ(c  - di)]

= p(c - di)  p(c + di)

&ih p(t +  ui)  <  p(c +  di)

a + bi  = (C + di)(x + y;) + (t + UJ.

hJJwd p(t + uj)  < p(c + di) #



1 1 3
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= S(XY)

= (sx)y

= ry
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E 1

= (c + di)

zz c2  + d2

!AFI~m’?fJLH~d  1, - 1, i, -i LYdUdDta  unit

LLRZ  associates WI9  a + b, &I l(a + b;),  - l(a  + b,),  i(a + bi) lt8Z - i(a + bi)

~d0m-m x, y lflpb  associate

3 unit u,  v  E R 3 x = uy  &A:  y = YX

P(X)  = P(UV)  2  P(Y).

ttat P(Y) = PW)  B P(X)

P(X)  = P(Y). . #



blaz  :i &a&!  a, b E R 3 d = ax + by



1 1 8

x, y,  z E R 3 (x, y) = 1

': (x,  y) = 1

bnuYlqw$  7.3.5 K-b

9 a, b E R 3  ax + by = 1

BXL  + byz = z

L.baJ”  x/au  Lbat  x!byz (‘: X~YZ)

xl(axz + b y z )

:. x / z



1 1 9

#



1 2 0

.: P(XY)  2  P(Y)

$1 p(xy)  =  p ( y )  t&a

<y> = <xy>

Gkb.4  ,:; r E R 3  rxy = y
.

. P(XY)  > P(Y). #



1 2 1
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123



124

2) a?-?  f(x) = x6 +  3x5 +  4x= - 3x + 2 LLRE  g(x) = x2 + 2x - 3 t~uwyulutu  z,[x] Pall

q(x) LLRt r(x)  IU  ZT[X]  8J??l!ps’  f(x) = g(x) q(x) + r(x) l@VJA  deg (r(x)) < 2


